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1. The production manager of X Company wants to predict quarterly demand for product A for periods 5
and 6, which happen to be the third and forth quarters of 2012. Demand for product exhibits both
trend and seasonality. The trend portion of demand is projected using the equation Ft = 100 + 5t.
Quarter relatives are Q1 = 1.30, Q2 = 1.00, Qs = 0.80, and Qs = 0.90. Please do the following: (ﬁ%}{ﬂ%
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(1) Use the information to deseasonalize sales for quarters 1 through 4 which are 170, 160, 100,
and 80.
(2) Use this information to predict demand for periods 5 and 6.

2. The times required to complete each of six jobs in a two-machine flow shop are shown in the
following table. Each job must follow the same sequence, beginning with machine A and
moving to machine B. Please do the following: (%L-H;f 1}%’ EALIE)

(1) Determine a sequence that will minimize makespan time.
(2) Construct a chart of the resulting sequence, and find the idle time of machine B.

Time (hours)

Job Machine A Machine B
a 12 11

b 8

c 10

d 14 3

e 9 12

f 6 10
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Z | .00 | .00 | .O2Z .03 .04 .05 .06 | .07 | .08
1.8 |.9641 |.9649 |.9656 |.9664 .9671 .9678 |.9686 |.9693 |.9699
2.2 1.9861/.9864 .9868 .9871.9875|.9878|.9881|.9884 .9887
2.3 1.9893/.9896 .9898 .9901 .9904 |.9906 |.9909 |.9911 .9913
2.4 1.9918.9920 .9922 .9925|.9927|.9929 .9931 |.9932 |.9934

.09
.9706
.9890
.9916
.9936
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(3) I (Delphi method)
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